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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all stages in your working.

1. R=4(y-5)
R=32

(a) Work out the value of y.

e
o
H e oty
2)
F=ma+b
(b) Make m the subject of the formula.
ma+b = F
ma = F-b
-3
-
ANE B
)

(Total for Question 1 is 4 marks)
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(a) On the number line below mark the inequality —-1<y<4

b mtes SRy AR SR YL BE SR S ¥
e e BERl | SRR A NG . S
' 1)

(b) Here is an inequality, in x, shown on a number line.

O &

BRI R Tk RRS RN SRS ML S s x
-4 -3 2 -1 0 1 2 3 4 5

Write down the inequality.

(c) Solve the inequality

St 17

=& >17-S

L >12
> ¢

.............................

(Total for Question 2 is 5 marks)
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The diagram shows the position of two ports, P and Q.
A ship sails from port P to port Q.

Ny
N F 3
120°
b
\k R
P i
\\\K
\_\\
Scale: 1 cm represents 20 km N e
(a)  Find the bearing of port P from port Q A (2o
{
8>+ €3 =7243" e 243 . :
(0))
(b) Work out the real distance between port P and port Q.
Use the scale 1 cm represents 20 km.
€. bcuy, — 6-6x20 %,
/32 én..'
(2)
Port R is 120 km on a bearing of 120° from port Q.
(c) On the diagram, mark port R with a cross (x).
Label it R.
20 aa, —» ._—!;L.?cu = 6 ca ()

(Total for Question 3 is 5 marks)
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4.

The diagram shows a regular hexagon and a regular octagon.

Find the size of the angle marked x.
You must show all the stages in your working.
Give the reasons for your answer.

€
Exkeor a—--j(n S a Luae._jm. = 2?3 =G
I8a-6o=
IZOQ/)GQG L '&wo—-ﬂ& .::AIZOQ
Ek'('e.«?aw/a-zrﬁco@&-ro-c,&gm = 3_5;9:_— <

_Eiijdfféﬁ 5 &¢£b{bf'0wth = /P L9X

= /[3F®™
Argle armen.d m,aoé..}’a.aQD fo R 6p°
L A+ 1204128 = BEaC
¢ T 26O -—(fZa—f—ngj =il

(Total for Question 4 is 6 marks)
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Rodney takes his car to the garage to have a new exhaust pipe fitted.

The exhaust pipe costs £65 plus VAT at 20%.

Find the total price of the exhaust price.

desx{2 = &£7%

(Total for Question 5 is 3 marks)

6.

Use your calculator to work out

13.7+5.86°

2.54x+/1.96

Write down all the figures on your calculator display.
You must give your answer as a decimal.

IZ3-S0F4%RSL

............................

(Total for Question 6 is 2 marks)
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The equation g
x + 10x=25

has a solution between 1 and 2

Use a trial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show all your working.

-5 [ .37 éc;&lu_q,a
1. 28 A.bé,j.

(75 2236 Ga sl

[ -85 24-%3 S b b vt o bk
/-9 2989 A, é‘j [-BS" 6 0 £ 9 Lo

(~ p TS /) A /-?

s (5 =

AUS [T + ko = AnE =
5 e
@ gl epenks., boos
el

€'

(Total for Question 7 is 4 marks)
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*8.

The area of this shape is 38 cm2.
All the measurements are in cm.

3x+5

2¢ -3

Find the length of the smallest side.

Rewn = Bltwes) « §(25-3)
O s
= o =R@ el

B T UL

Sk +S = [/

2% —3 — (

f

S ==
capc_:s o€ 9[ '3
. \{(-—/:(c

Tle fgcav"é_r)'-fr_‘cpe st f cna

(Total for Question 18 is 4 marks)

Practice Paper B 3H 0




255

Jim buys 6 trays of Cola for £9.99 a tray.

Each tray holds 24 cans of Cola.

Jim goes to the school fete to sell his Cola.
24 cans
He sells 75 cans at 80p each.

He gives 10 cans to his friends.

£9.99 a tray
He sells the rest at 50p each.

What is Jim’s percentage profit or loss?
Give your answer to | decimal place.

Jel M Eve =779 = ég?q4—
He [fax é.._,,__ﬂ[,& Excld = (&F coeaS ,

He tallh 75 cus o"éa-3aJ p‘:r £ 60

He sells ta9— (7540) = 5§ cos ab £0.5O,

gk dvgee £'Rea

Tohd o e Ebo+ %2950 = £ 2% -5

beu = (..‘--rc:@rn—-.-e -*eﬁp_o._._rﬁo:[’m
= Feger . F4Q 0¢

= £29.<%

Em}s-% Pmﬁ,/' - é2?'§6 x/c*.)t::sz.,
o £ 59.9¢9

= 49.3 7% Lh2as b0y

(Total for Question 9 is S marks)
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10. (2 Solve Sx+4=2(4x—3)
S B = Qe —-§G

Boe = Sl

2Ly = (O

- b
e ol e
3)
(b)  Solve ok e
T
HE) - Zuennn i 3(:(_-:-4) =3O
= 22¢ -3 +B32+12
== MY
e S e B -G =2
L 2. ( e xZQ"'?— ........
e 3)

(Total for Question 10 is 6 marks)

11. The distance of the earth from the sun is 9.3 x 10 miles.
Light travels at 186 000 miles per second.

Work out the length of time it takes for light to travel from the sun to the earth.
Give your answer in minutes and seconds.

Speed ¢ Abe = Aishce

(9 ?‘ "‘-f.
v, fuiee = s feea s 1. Shte o = SO sec

S peal 7BC€ee o ailesflec
— <4'3<.') + 20) Sec.

—

s/ SO L T P PP r e e e PRy PRP PR i

(Total for Question 11 is 3 marks)
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12. (a) Ben bought a car for £12 000.
Each year the car depreciated by 10%.

Work out its value two years after he bought it.

Reso x ©.9% = 720

..................

(b) Susie also bought a car two years ago.
It too depreciated by 10% each year.

The car is now worth £8100
Work out the original cost of Susie’s car.
Ce F on_j'.s-vf ek = C
2
C e ©-9 = V/Ioo
». 9%

= OO

oooooooooooooooooooo

(Total for Question 12 is 6 marks)
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13.

Here are the equations of 5 straight lines.

P y=2x+5 Q y=-2x+3 R y= x+5
1 1
S =——x+6 T = —x+1
& 2 o 2, i
(a) Write down the letter of the line that is parallelto y=x-35 R
1)
(b)  Write down the letter of the line that is perpendicularto  y=2x-1
@
©) Find the coordinates of the point where the line y = 2x + 5 cuts the
(i) yaxis,
(a (i) x axis.
2 { Lrt+tS = (—-2-5 O )
e e
2e =28

(Total for Question 13 is 4 marks)

Bob and Sally buy some fruit. :
Bob buys 5 oranges and 2 bananas for £2_00(,’
Sally buys 2 oranges and 3 bananas for £1.35
{
| »” 2
Work out the cost of ;
\
(1) one orange f o200
(i1)

one banana é@ o ‘\

= go*f-?-.é = 2.

2o+ 3b =/(-3E o

ISe+6L = 6

$o bl = 27 subbaF

[l o SR
(2 = 3_..':_3’_ :—o,?
\ t(
4
Lbh= L=So =2-(-F
.
A= nes

..............................

(Total for Question 14 is 5 marks)
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*15

Diagram NOT
accurately drawn

¥

In the diagram ABC are points on the circle centre O.

Angle ACB =27°
FE is a tangent to the circle at point C.

(i) Calculate the size of angle BAC. Z AR ¢ = CEOQ ( ufqé 5—1.. @
Give reasons for your answer.
[BoS annle LASC) .
Aegles &2 o Playl ol /o r30°
.7, E&BAC +%0 +27 =/80
LBRAC =/ ~(lP = 63"

(ii) Calculate the size of angle BCE.
Give reasons for your answer.

B frgorch it pespendicele b Feo meli abik
foﬁvlé..nppac;.f" in e el B
= LBCcE+27°

Lt IRE T = Nyl R
cuf,y& ﬁ,‘_" ol o A %Sp‘@ aie; té (Total for Question 15 is 4 marks)

A BCE = £ 8Ac |
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16.

0
15
£40% Diagram NOT
L
/ accurately drawn
\ 9cm
/
/ 4
_./ \"\_.\.
\
- -

The diagram shows a sector of a circle centre O.
The radius of the circle is 9 cm.
The angle at the centre of the circle is 40°.

Find the perimeter of the sector.
Give your answer correct to 2 decimal places.

Are Gt = (fachsm & wrle)w 2rr

o
= E%o >~ 20 % 9(:01-4 = ’2'?1“ Cokn
P%ef‘-e/ = Grc t(e—-ﬁﬁ 4+ T2x radd e
= 2v + /€

= 24—.2832 Coaq

—— '2¢-2€Cu.\ /b '?_CQ»P.

(Total for Question 15 is 4 marks)
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17.  PQR is a scalene triangle.

Diagram NOT
accurately drawn

Find the length of the perpendicular line from P to OR.
Give your answer correct to 3 significant figures.

Flsh okt lengtl, QR crsy comie Al
atee Lhpa ®* o 9L s B

= 154135~ 2x/oxIR wa S© = rof. =7
as= [OBTE? en

o= 108 €

Sea o wbof
ey — et

(= o

- O = D S C :-_fc;,(!lcé..S"D
lo.0TF2=

= D . BLELS ou,

(Total for Question 17 is 6 marks)
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18.

The force, F, between two magnets is inversely proportional to
the square of the distance, x, between them.

When x=3, F=4.

Calculate the value of F when x=2.

F o ";(,:"3- j F o 2C 5
~2

----- i T

(Total for Question 18 is 4 marks)

TOTAL FOR PAPER = 80 MARKS
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